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QUESTION 1

LDP uses Initialization message to negotiate LDP parameters with the peer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

VXLAN uses MAC in UDP encapsulation to extend Layer 2 networks and encapsulates Ethernet packets on IP packets.
When packets are transmitted on a touted network, the intermediate touting device does not need to learn inner MAC
addresses. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

If Adjacency Segment + Node Segment is used together, the entire path can be forced to include an adjacency and load
balancing. This mode is called loose path. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 4

PIM-SM relies on particular unicast routing protocol for RPF check. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

Which of the following statements regarding DIS election is correct? 
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A. When the priority is the same, the router with higher IP address will be elected as the DIS. 

B. When a DIS fails, the backup DIS will take over. 

C. The IS-IS router with the highest priority in the whole broadcast network will be elected as the DIS. 

D. DIS election is configured manually. 

Correct Answer: ABC 
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